HOMEWORK 6, DUE FRIDAY, MARCH 31

Please turn in solutions for the following problems:
(1) Determine whether each series converges or diverges:
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(2) For each function, find the Taylor series expansion of the function centered
at the specified point:
(a) f(z) = zsin(z?) centered at z = 0

centered at z =1
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(3) For each function, find the Laurent series expansion of the function on the
specified domain:
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In addition, I suggest that you work these problems from the Brown/Churchill
textbook (but do not turn in):

e Page 196-197, problems 1, 2, 3, 6, 7, 12, 13

e Pages 205-206, problems 1, 2, 3, 4,5, 7
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